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Materials;
You will require the following materials:
Calculator

Ruler
+  Pencil with eraser
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The total time allowed for writing this test is 120 minutes or 2 hours

Work alone on this test

You may use a calculator on any part of this test.

Notes, notebooks or textbooks may not be used during the test,

You may use blank scrap paper but it must be handed in at the end of the test. You may

do rough work in this booklet.

if you need more space to answer a question, you may use an extra page provided by
your teacher. Write your name and the question number on any extra page used. Staple
all pages into your booklet where your answer begins.

Description

Your grade 9 final exam consists of 3 parts:

Part Description Suggested Time Marks
1 Multiple Choice 40 minutes 26
2 Constructed Response 80 minutes 87
Directions

Part 1 : Multiple Choice — Read each question carefully. Choose the best response and mark it on

the Answer Sheet by shading in the letler of the appropriate bubble with your pencil.

Part 2 : Constructed Response — Provide complete. well-organized answers showing all

your thinking. Remember to write neatly.




Part 1: Mulfiple Choice Questions: - Use your bubble sheet. Shade the letter of the best

answer.
1) Which of the following repeated multiplication forms represents the area of a square with a
side length of 27

2 x4 C. 2x2Ix2x2
2x2 d. 2x2x2x4

2) Determine the volume of a cube that has a side length of 13 ¢cm.

a. 39 ¢m? C. 169 cm’
b. 78 cm’ @ 2197 em’

3} Express 2187 as a power of 3.

3% 729 c. 7°
3 d. 729°

2i0 c. (_5)4
4° d. -32°

5) What is the value of —4°?
@ ~4096 o 2
. -24 d. 4096

6) Express 77 x 7" as a single power.



8) Evaluate \ 3 3

L4 32
‘ 9 243
b 8 N 1024
27 59 049

9) When evaluating the expression 4° + (8 — 9 x 2), what is the last operation to be completed?
a. addition @ division
b. brackets : exponent

10) Which number will make the statement true?
0.625 > %l
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12) The waiters at a restaurant give 30% of their tips to the kitchen staft at the end of each shift. It
a waiter collects $42.50 in tips. how much does he take home at the end of his shift?
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13y What is the side length of a square with an area of 196 m?

a. 9m C. 49 m
14 m d. 98 m




lﬁ) How manyvtenn—s are there in the pbl—ynomial 2¢% +3cd - 2d" + 59

a. 6x Sx
>

Sx°

0.5x C. 2.7%
2x d. 14.58%"

18) Marc had 5 coupons for $2.50 off the regular admission price of a movie. He bought tickets
for himself and 4 friends. He paid $42.25. The regular price for each ticket was:

"3

a. $8.45 b. $10.69 $10.95 d. $12.50

19) Which number line can represent the statement., “Only children at least 5 years old may swim
in the wave pool™?
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20) Determine a verbal ;éﬁré's'e-ma_ﬁbfl of34sr<82

All numbers greater than or equal to 3.4 but less than 8.2
All numbers greater than or equal to 8.2 but less than 3.4,
c. All numbers less than or equal to 3.4 but greater than 8.2.
d. All numbers less than or equal to 8.2 but greater than 3.4.

21) Which number line represents the solution to 1+ 2 > -37

PR T SN TR SR T . ¥
~§ -6 4 -2 0 2 4 8§ 8 -5 & 4 -2 0 2 1+ 6 5
a. C.
——+—+—+ 3 Attt tt——t—t—>
T T T T~ F 1 T T l,
£ 46 4 -2 0 4 5 8 -5 -6 4 -2 0 4 46 8
b d.

b) -2 )2 - d) 6

¢ 500 d. 80°




24) In'the diagram, ZXWY is

z
X ® Y
0
W
@ equal to LXZY c. egual to twice ZZXW
bh. equal to half of ZXZY d. equal to twice LZYW

25) Determine the length of line UV in the figure shown below.
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4.5cm C. 6.0 cm

d.

9.6 cm



2 marks

2 marks

26) i)ert'érr.ﬁ'irrle thé nié-a‘sure of ALOM o

35° c. 75° d. 90°

END OF PART 1 - MULTIPLE CHOICE QUESTIONS

Part 2: Constructed Response - Remember to show your work in this
section. Write neatly.

1) What is the value of (8 +4y — (4" —2"+ 47 §
2% - (et-22) =1
jyg — 32 =

Y = ¥
I50) -

2} What is the value of ;’3 :: :r)')_“; ” éq + /é w@ = é/g

2+s




1 mark

1 mark

6 marks

2 marks

2 marks

N
(+)
3) Evaluate

P

i

3

7249

o
: (78) — U N
4) Write as a single exponent and evaluate. 7 - f

5) Evaluate.
a) 10 x4 +6° |
10 x 4 + 2k
uo + 2l
250

€)2 x5 +(35-5%

b)Sx2"—6"x2
v 22 ~36 %12
Jbo ~ T2

=

7« 126 = (7525

2% /25 & (O
250 3 [O

6) The nun@r‘(ﬂ{nsecls in a cofony doubles every month. There are currently 500 insects in the
colony. How many insects will there be after one year? R

17
500 X 72

‘43%%

i

2 o049 000

Y

Pooas 8
7) On a test. Laura completes the expression as shown. 4" x 3" =12

Did Laura make a mistake? Justify \.ourl ﬂkln

[auwa &;cmf il f{» 7%1 éa%é Z:x/@mmi[% cav ée
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2 marks

2 marks

3 marks

2 marks

2 marks
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8) Order the rational numbers if déséeﬁding'vord‘eﬁ -

1_3_,_3_1_ ]E %Eﬂ}_

8 3' 161 _LS: .i g1l --3%-*
128 -3.33 =194, U / ) /%) ///) 32

15 ? / /

EO)Whatiszx(2+l};8 ?
503 81 15 :
[b 4 % - i

M 24 2 ;
lz 11 = j_,,
- X %
_ 2H7 12 ‘
F1) Jag has 4 large bags of popcorn, which he divides among some smaller bags. The smaller
bags are % of the size of the large bags. How many smaller bags of popcorn can Jag make?

o2 4206

——

2 Y B

12) Jerry’s bedroom is square. He has a square desk in his bedroom which has an area of 10 000
cm”. The area of the bedroom 1s sixteen times the area of the desk. What is the side length of the
bedroom?

. Jocco x /b=

o ©€0 (/éf‘fca of é)ejrmv) |




2 marks

6 marks

3 marks

1 mark

" 13) Tia'travels from her home in Kelowna to visit a friend in Edmonton. The cost of a taxi from

her home to the airport is $15.00 each way. The cost of her round-trip flight is $256.80. She stays
at a hotel for three nights, at a cost of $87.20 per night. How much does Tia spend, in total, on her

e Taxc T xls =
A, i+ = # 25¢.7¢ f
Ho‘;f/f 3 x F1.20 ~ %f‘éc’__

Tl st

14) Evaluate each expression. Write your answer in lowest terms.

g

a2t x3 ! b)y-13+21 921 L
4773 47 % TRNT

2 %x#“a
7 5 kg \ ¢

/
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15} A reuanguiar swimming pool has.a length tha f times its width. The pool covers an
area of 144 m’. What are the dimensions of the pool?

X -
. 4"% %/ W A %i {lm,
x = 36

16) Determine if 64/100 is a perfect square. Explain.

U 12 éefwﬁf’ é@ﬂ‘

L5 a perfect
- ? {’zé’m&m%jf are

He numedfsr an
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17) Simplify

2 marks

2 marks

2 marks

3 marks

P = (12 7(,
P&J@}QZ @ MMY Del -

a) (3a® + 2ab - 4) + (24° - 5ab - 6).

3% + 24 -4 11;,2;4{ Sab -4
2 _24b -lo

b) (3 = dmn + 5)- (.lw2 - Fmn - 2)

2 g
qumﬂ _{_»g -m_ F 7m1f) —f«Z

6’ + 3@1“”"/@

18) The perimeter of the triangle below can be represented by the poijnomlai 14x° + 3‘( What is )

the missing side length? (51/ 7% /L{L 4 Z(/
955+ 20

5x2 — 2x ' Ax? + 4x

T 6‘47& +<Zz,) (CM’%ZX’)
Jf 2 =T — Tt —2x
5% + bx D
19) Peter, Paul and Mary sold candy kabobs at their school. Peter sold three times

as many as Paul while Mary sold five less than Peter. If they sold 79 kabobs
altogether, how many did each person sell? Write an equation and solve.

ete 2 X Tx x5 = 71
gj X N

/VlﬁrY' 2L -5 i?(, = ﬁ




~ 20) Charlene’s Lawn Care Service charges a flat fee of $ 25 plus $ 18 per hour.

a) Write an expression to determine the total cost (C) of hiring Charlene.

2 marks | C: [2}’\' ’_{" Zg

b} Use this expression to calculate how much Charlene would charge for 7.5

hours. C‘: {?0 7§§ + 25
- %/L0

21) Simplify.

a) N A0

B ., T -2T A+

487 -721+24

24

J AN AN 7x°=9 X - 30”4 120

2x(x - .4) ~3x(¥ g 4}, .
7 y
EVEIFETI

2 marks f/j

22) Determine the height of the rectangular prism.

(tx) (Zkf) = 1227

2 marks

13



23) Write a simplified exbress‘ion for the érea of the Atriané}e -

4-51)

2 marks Z
I - 10X .
24) Write a simplified expression for the perimeter of this figure. Calculate the perimeter of the
figure? .
5y + S’g + 1y -4+ 7j~—~1(
2 marks
25) Write a simplified expression for the area ot this reciangle. Calculate the area of the
rectangle? .
A = L_, X w
2 marks

26) Solve the following equations:

a) L +\§ = -32 b)26 + 21k = 15 + 43k
16 _ oy -5.9 - H.5K ~ i,3K
.5

‘ A -2.2K
4 marks .,,I. S{\ﬂi %K\(ﬁ “‘Z b
[ |
=L, i%u« -l
7.0

i




4 marks

Z marks

3 marks

3 marks

AV AN
c) 6m—3§—a4m—~1 d) 5(x + 3) = 2(4x - 3)
5 3

) Sy + 15 = gy —b
7 =9 = X0 P g -2
~ 20w T | g = b

""‘Z,M /Ji\ - “"‘g ~{
1*’\‘* N _ px = 22

1
gt @
- C;/
27) Susan charges a flat rate of $20 per night of babysitting. She also charges &7 8xffa Tee of $3

per hour for every hour she works past 8 p.m. If Susan received 332 for a night of babysitting, |

how late did she work? O
% h i\w e g 4+ 4

%h 1z
%

h -

28) Video club members pay an annual membership fee ot $25.00, which atlows them to rent
movies for $3.50 instead of $5.00. What 1s the least number of videos that a club member must
rent during a year togave money from the membership? Write an equation and solve.

-2.50 X

i

SN
f g?,‘} %} / ‘a 5% nlnl
é«f:

\ = /6. LT w 605 ;é 117;

29) “"On-the-Go Mobile Phones” charges a monthly service fee of $ 9.52 plus a rate of
5 ¢ per minute. "Connect Mobile” charges 3 ¢ per minute plus a monthly service fee
of $11.60. After how many minutes will the monthly charge be the same for both

companies? Write an equation and solve.
O& (} 6 m %’ é:z # g 2
-~ 0.0H M

O.07 ™M




1 mark

4 marks

2 marks

30) The number line below represents the inequality

N

31) Solve the following inequalities:
(x+2)

[ ross v H“‘FB
I
| | \(\:_q L 9T +20
;84%THQ<T
L’/ ol

by 4{(r-1)<8+20

_32) In the figure shown. what is the measure of ZSUV? Explain how you know. @ w

) - ‘\\ 6.0 cm - ; ,
g 75em! % W VW baged? (:!qorz;{ ST,
:‘-,,‘ '\ . ‘

| U hen this happens ) ST
L4 FE-F'PQMU(;L{\&F '785’ \/L/\!

LSuy =90

16




2 marks

33) Without using a protractor, what is the measure of ZAEB in the figure below? Explain how

o JAER and L ACE e
/ s the same e;dfo{/ﬂL S _
| AEB i3 m{(ég{ an éh%f‘(iﬁ%{
&mﬁ(e’, (,Jhliﬁ J, ACB is q
C-ﬁ;’i{?‘@{ m?j [e .

Cetral ang les are Twice e
L12¢ OF ;hif}f;l(,ﬁ‘i)@o( a,{v‘jiﬁé,

SN

v -

/ AEB =120 @
2

End of the Grade 9 Math Exam
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